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The arbitration factor that allows you to assign financial values to actions is called:

Response:

A. business levers

B. propensity

C. action value

D. context weighting

Answer: C

U+ Bank has decided to present the Platinum Plus credit card, a lower ranked card, to customers who
visit their home page. Which arbitration factor do you configure to implement this requirement?
Response:

A. Business levers

B. Context weighting
C. Propensity

D. Action value

Answer: A

A bank has chosen an email service provider to deliver the offer messages selected by Pega Customer
Decision Hub. The service provider prefers that the bank uploads a file per batch of customers to a cloud
storage location, either on Microsoft Azure or Amazon S3.

As a consultant working on the project representing the bank, what is your response?

Response:

A. Action details can only be transferred via secure FTP.

B. Action details will be written to the local filesystem by default. But we will write an external process
to transfer them to the cloud.

C. Action details can be written directly to Amazon S3 but not Microsoft Azure.

D. Action details can be directly written to either of those cloud storage solutions.

Visit us athttps://examsempire.com/exam/pegapcdc87vl/


https://examsempire.com/exam/pegapcdc87v1/

Answer: D

When building a predictive model, at what stage do you compare the performance of predictive
models?
Response:

A. Model Development stage
B. Model Analysis stage

C. Model Export stage

D. Model Comparison stage

Answer: B

A bank has been running traditional marketing campaigns for many years. One such campaign sends an
offer email to qualified customers on day 1. On day 3, it sends a reminder email to customers who
haven't responded to the first email. On day 7, it sends a second reminder to customers who haven't
responded to the first two emails.

If you were to re-implement this requirement using the always-on outbound customer engagement
paradigm, how would you approach this scenario?

Response:

A. Create three segments to identify the target audience for each of the three offer emails- day 1, day 3
and day 7. Setup three schedules per day targeting each of the three segments.

B. Configure a primary schedule for the original offer email and setup an ad-hoc or emergency schedule
to send reminder emails

C. Configure the primary schedule to run daily and let the Al choose the best action from all the actions
that a customer qualifies for based on engagement policies.

D. Create an action with a flow that contains 3 Send Email shapes, one for each email. Set appropriate
wait times between the shapes.

Answer: C

To which types of decisions can Decision Management be applied?
Response:
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A. Determining the cause of a customer’s problem

B. Determining why response rates for a campaign in one region are below average
C. Determining how to retain a customer and what budget we should spend

D. Determining how to optimize the product portfolio to increase market share

Answer: B

Which two of these statements is true about creating segments?
(Choose Two)
Response:

A. The list of customers in a segment can be viewed from within the segment

B. A segment run can be triggered by the Next-Best-Action outbound schedule

C. In a segment you can reference customer properties OR another segment, but not both.

D. When building the segment, if you want to know the count resulting from the criteria defined so far,
the only way to do this is by running the segment.

E. The result of a criteria group can be combined with the result above it using AND and OR operators.

Answer: A,B

In a Prioritization component, the top action can be determined based on the value of

Response:

A. Propensity

B. Customer.Value

C. Primary.Income

D. Average Margin of all actions

Answer: A

A bank has several credit card offers defined under the sales issue / credit card group. The card_type
action property for some of the cards is set to VISA and for others to Mastercard. The bank wants to
limit the total number of VISA cards sent via email in an outbound run. How do you implement this
requirement?

Response:
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A. Define a property constraint based on the value of the card_type action property.

B. Define a group-level constraint to limit all credit cards.

C. Move the VISA and Mastercard actions to separate groups, then define two separate volume
constraints

D. Define an action-level constraint for each of the actions separately.

Answer: A

U+ Bank has a product eligibility matrix that defines what type of customers qualify for which offers
when customers visit the bank's website. Which two components in the Next-Best-Action Designer
allows you to define these conditions?

(Choose Two)

Response:

A. Arbitration

B. Channels

C. Engagement Policy
D. Constraints

Answer: C,D
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